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Section A { 8 x 2 marks )

For each question, choose the correct answer and write its number
in the brackets provided.

1. What is the value of the digit 6 in 53267
(1) 6 (2) 60

(3) 600 (4) 6000 ( )

2. The height of the flag-pole in the parade square is approximately

(1) 350m (2) 350 cm
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3. The mass of the bunch of grapes is

2500 g
2500 g

- What is the mass of two such bags of rice?
¥  5000g ) 25004

}{5‘5 10 kg | DY 5kg

5. The aifféréir{(rzréhbetween 379 and 1200 is -

(1) 1579 () 1179
(3) 831 (4) 821
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6.

7.

8.

9.

10.

The numbers below follow a rule.

4 7 9
12 14 18
3 2 3 2

What is the missing numkber in the shaded box?

(1) 5 (2) 11 .

(3) 16 (4) 24

Sheila had $100.00. She spent $7.80 and saved the rest.
How much did she save?

(1) $22 (2) $92.20-

(3) $93.20 (4)  $107.80

Jamad and Rosnah have $204 altogether. Jamad has $98.

How much more money does Rosnah have than Jamad? ~_
(1) $302 (2) $106

(3) $53 | (4) $8

Refer to Booklet K.

Refer to Booklet K.
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Section B {17 x 2 marks )

Show your working clearly in the space below each question. Write

- the answers in the blanks provided. For questions that require
units, give your answers in the units stated.

11. Write the greatest 4-digit even number using all the digits below.

4, 3, 7, B

¥

= Answer ;
12 10¢-7¢302ml = mi
Answer : mi
13.  Find the product of 243 and 6.
Answer :

14, Arrange the following fractions from the smallest to the greatest.

00} W

Blw

smallest
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5. Whatfraction of the figure is shaded?

Answer -

16.  The length of a pen is 15 cm. YWhat is the total tength of 5 such
pens?

Answer : cm

17. The capacity of the tin of paint is 8 times that of the bottle of dye.
What is the capacity of the bottle of dye?

Answer : - mt

18. Hakim scored 75 marks for a Science test. He scored 8 marks
fewer than Salim. How many marks did they score altogether?

Answer :
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19.

20.

21.

22.

Min Pin saves $28 every week. She saves the same amount of
money every day. How much money has she saved in 10 days?

Answer : §

Harry jogged 1 km 550 m and cycled 2 km 600 m. Whatis the
total distance travelled by him?

Answer : km m

Kathleen’s age is an odd number between 20 and 30.

Her age can be divided exactly by 3 but not by 7.
What is Kathleen’s age?

Answer : | years oid

A tin of biscuits cost $9. Chandra has $78. What is.the greatest

number of tins of biscuits he can buy? )

Answer :
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23. A computer cosis six times as much as an oven. A television
cosis three times as much as the oven. The television costs
$1056. How much does the computer cost?

Answer : $

24.  The difference between fwo numbers is 236. The big number is
5 times the small number. What is the small number?

Answer :

25.  What are the digits represented by the letters A and B?
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B =
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26.

27.

28.
29.
31.
32.
33.
34.

Wen Han used twelve coins to form a square as shown in the
figure below.

O00OO0
O O

O O
ONONORE;

He then rearranged the coins to form = triangle. Lach side of
the triangle had the same number of coins. How many coins
were there on each side of the triangle?

Answer :

There are 38 pages in a book. Don starts reading the book on
Monday. He reads two pages of the book every day. On which
day will he finish reading the book?

Answer :

Mental sums
Meintal sums
Mental sums
Refer to Booklet K.
Refer to Booklet K.
Refer to Booklet K.

Refer to Booklet K.
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Pei Chun Public School
Continual Assessment — 2008
Mathematics
Mental Sums

Primary 3 I—-7
Name: ( ) Marks: i 6

Ctass: Primary 3 Date: 21 August 2008

Maths Teacher:

You have 1 minute to complete all the sums below. Write the

answers in the blanks provided. (12 x Y2 mark )
28a 4 x 6 = 28b 12 + 1 =
28c 60 = 10 = 28d 7 x 7 =

29a Hr x 8 = 29b 63 -+ 9 =

29¢ 40 = 4 = 29d 8 x 6 =

30a 9 x 4 = 30b 45 = 5 =

30¢c 42 =~ 6 = 30d 6 x 0 =
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Section C { 6 x 4 marks )

Work out the problem sums beiow. All working, statements and
" answers must be clearly shown.

35, Mdm Ling bought 4 air tickets to Hong Kong. Each ticket cost
$529. She had $378 ieft. How much did she have at first?
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36.  irene bought a bottle of oil and 3 packets of flour. The mass of
each packet of flour was 500 g. The 3 packets of flour were 375 g
heavier than the bottle of oil.

(@) What was the mass of the 3 packets of flour?

(b)  What was the mass of the bottie of oil?
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37.  Jackyis 148 cm tall

shorter than Yani.
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He is 16 cm taller than Peter but 17 om
What is the total height of Peter and Yanj?

JEI
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38.  To make an orange drink, Pauline mixed 400 ml of syrup with
twice as much waler. She then poured the orange drink equally
into 8 emply cups. How many millilitres of orange drink did each
cup contain?
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39. Mr Sim pays $23 for 5 bowis and 2 plales altogether. If 3 plates
cost $12, how much do one bowl and one plate cost altogether?
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40.  There are some trees along one side of a road. The road is
360 m long. The distance between every two trees is 8 m.
How many trees are there_along the road?

41. Refer to Booklet K.
42. Refer to Bookiet K.
End of this Booklet

Setby : Mrs Serena Woo
Vetted by: P3 Maths Coemmittee Teachers
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b)1500-375=1125

The mass of ﬁhe__,tj'&tle of oilwas 1125.
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37)Peter>148-16=132
Yani»148+17=165
P&Y—>165+132=297
The totai kicight of Peter and Yani is 297cm.

38)400x3=1200
1200--8=150
~ Each cup contained 150ml of orange drink.

39)One plate>12 -3=4
One bowl2>4x2=8
23-8=15
15:-5=3
One bowl &0One plate>4+3=7
One bowl and one plate cost $7

40)360=8=45
45+1=46
There are 46 trees along the road.





